2036 PENANG SANGAM PRIMARY SCHOOL

YEAR 7
ENGLISH

WORKSHEET 14 — SOLUTIONS

Circle the letter of the best answer.

1. Woolly mammoths roamed the earth

A. a few years ago.

C. hundreds of years ago.

Activity

B. couple of years ago.

tens of thousands of years ago.

2. Why are woolly mammoths called by that name?

A. They are ugly.

@Covered in full coat of hair.

B. Coat feels like wool.

D. They look better than others.

3. The way the word insulating is used in line 11 means

A. allowing.

C. exposing

4. What do they do with their large tusks?
A. They use it for fighting.

C. They use it to defend themselves.

5. Woolly mammoths became extinct about

,ooo

C. 2,000

protecting.

D. endangering

B. To make them look beautiful.

@They use it to brush away snow as they look for food.

years ago.
B. 50 000

D. 10 000
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2036 PENANG SANGAM PRIMARY SCHOOL
YEAR 7
VOSA VAKAVITI
WORKSHEET 14 — SOLUTION

1. gone tagitagive
2. vakacavara

3. vesuka

4. donumaka

5. oti

6. gagata

7. wasewasea
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2036 PENANG SANGAM PRIMARY SCHOOL
YEAR 7
HEALTHY LIVING
WORKSHEET 14 — SOLUTIONS

Activity

1. Why do young people smoke?

e To look mature.

e To be like their friends or be accepted by their friends.

e To experiment.

2. Why do people get addicted to smoking?

Cigarettes contains substances (nicotine) that make people get addicted to it.

3. What is the difference between active smoking and passive smoking?

Active smoking is where a person smokes at least one cigarette a day whereas passive smoking is

the inhalation of smoke or breathing in tobacco smoke.

4. List down the effect of smoking on the family.

e Financial issues (less money to buy food).

e Setting bad example to children.

e Affects non-smokers health.

e Family needs are not met.

e Causes strain in relationships.
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2036 Penang Sangam Primary School

Year 7
Hindi
Worksheet 14 - Solution
Strand IECURIE T
Sub Strand 3T (FSUT e $r gredn)
Content Learning Outcome | gYere sl 9T 3 379I1H T 9-T 7 |

HEATH

A T a1 wyeat #1 Jaw @ e F o

g.

GeTAT &1 STl qr ?
AT SAerar o1 @ st Feor Ak el sFwolt & v aEe F et fr e
a5 & ARl A § |

.WWWETWW?

HETAT Yoo 81 T o7 FAIfF A F7 3 39T AR F7 HoT FFR T
arfaa FT r o1 B ger @ 3awr gad w@n A

. A1 FSUT & ST FoA] FaTAT T fohd &I AqTE 3T 719 A ?

At FOT HT IIT AR G B JTA Geet AR o ¥ ferwa et i g
m ag ot |

HETAT FIT Shgedl dTecdl AT ?

HETHT Fgell aTge o1 ¥ a5 3fts R adf sav % |

FerAT & AT FHTT A FAT gl ?
oAt A At FT § FET & 97 Fo B T g9 AR I S5 F 9@1g
# I qreT HLm |
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2036 Penang Sangam Primary School
Year 7
Mathematics
Worksheet 14 - Solution

Strand Measurement
Sub Strand Time
Content Learning Outcome | Use operations to calculate value of time in hours and minutes

Activity

1. Sam spent 1hr 55min in his garden on Saturday and 2hr 50min on Sunday. How many
hours and minutes did he spend in his garden altogether in these two days?

Add the minutes: 55min + 50min = 105 min
Divide 105 by 60 to get number of hours and minutes:

60 % The number before the remainder
~ 60 represents hours and the number after the
45 remainder represents minutes i.e. 1hr 45min

Add the hours: 1hr + 2hr + 1hr = 4 hours
Put the hours and minutes together: 4 hours 45 minutes

He spent 4 hours 45 minutes in the garden.

2. A bus travelled from Rakiraki to Tavua in 50 mins and from Tavua to Ba in 35 mins.
How long was the trip from Rakiraki to Ba?

Add the minutes: 50min + 35min =85 min
Divide 85 by 60 to get number of hours and minutes:

1R25 «—
60) 85 This means 85 minutes is the same as 1 hour
B g—g and 25 minutes.

The trip was 1 hour 25 minutes long.

3. Jenna went for a 5 hour boat trip. If she has travelled for 3hr 25 min, how much time does
she have left for completing the trip?

Convert both times to minutes:
(3 x 60) + 25min = 180 min + 25 min

5x 60 =300 min
= 205 min
291

Subtract: 380 min
- 205 min
95 min

Divide 95 min by 60 to change it to hours and minutes:

1R35 <«—
60 )95 She has 1 hour and 35 minutes left for
- % completing the trip.
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2036 Penang Sangam Primary School
Year 7
Social Science
Worksheet 14
Solution

Strand

Time, Continuity and Change

Sub Strand Continuity and Change

Content Learning Outcome | Identify and sort the various forms of leaders that exist in the Pacific.

Activity

Answer the following questions.

1.

How is the ‘Leader of the Opposition’ appointed?

Elected by the members of the largest non-government party.

What is the importance of the Speaker in the Parliament House?

Chairs the proceedings of the parliament.

Prime Minister - the leader of the party with a majority of members in parliament.

President of Fiji - elected by parliament in 2015 to be Head of State.

How are ‘Members of Parliament’ chosen?

They are elected by the people of Fiji.
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2036 Penang Sangam Primary School

Year 7
Basic Science
Worksheet 14
Solution
Strand Energy
Sub Strand Energy Source and Transfer

Content Learning Outcome

Investigate and illustrate the different energy source and their uses and
classify them into renewable and non —renewable.

Activity

Answer the following questions.

1. What is required for burning to take place?

Energy.

2. Write down the substances used in the first experiment.

Kerosene
Methylated
Spirit

oil

3. What was observed in experiment no. 1?

You will observe that the wick burns producing light and heat.

4. How is experiment no. 2 carried out?

Put the dry twigs together and light it up. Put the piece of bread in the fire.

5. What is observed in experiment no. 2?

You will observe that the dried twig easily catches fire and slowly turns to ashes. Also,
the bread burns, turning the color to black and becoming hard.
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